
(Papers) SSC Junior Engineer Exam Paper ­ 2016 "held on 03 March 2017 "Afternoon Shift( General
Awareness)

QID : 1151 ­ The ratio of molars to pre­molars in adult humans is _____.

Options:

1) 2 : 3

2) 3 : 2

3) 1 : 1

4) 2 : 1

Correct Answer: 3 : 2

QID : 1152 ­ Which type of Red Blood Cells secrete histamine, serotonin, heparin, etc., and are involved in inflammatory reactions?

Options:

1) neutrophils
2) basophils
3) lymphocytes
4) monocytes

Correct Answer: basophils

QID : 1153 ­ In some plants such as Rhizophora growing in swampy areas, many roots come out of the ground and grow vertically upwards. Such roots
are called ______.

Options:

1) tendrils
2) pneumatophores
3) fibrous root
4) adventitious root

Correct Answer: pneumatophores



QID : 1154 ­ What is the process by which terrestrial plants take up huge amount of water daily but most of it is lost to the air through evaporation from
the leaves?

Options:
1) desiccation
2) transpiration
3) dissipation
4) respiration

Correct Answer: transpiration

QID : 1155 ­ Consider the following pairs:

Name : Formula
1] Ethanamine : CH2 = CHCH2Br
2] 3­Bromopropene : CH3 = CH2–NH2
3] 2­Bromo­2­methylpropane : (CH3)3CBr
4] 2­Methoxypropanal : CH3CH(OCH3)CHO

Which of the above pairs are correctly matched?

नाम : सू�

1] ऐथेनेमीन : CH2 = CHCH2Br
2] 3­浍�ोमो梞�ोपीन : CH3 = CH2–NH2
3] 2­浍�ोमो­2­मेिथल 梞�ोपेन : (CH3)3CBr
4] 2­ मेथॉ攙�ी梞�ोपेनैल : CH3CH(OCH3)CHO

Options:

1) 1 and 4 only
2) 2, 3 and 4 only
3) 3 and 4 only
4) 1, 3 and 4 only

Correct Answer: 3 and 4 only

QID : 1156 ­ What is the IUPAC name of Vinyl chloride?

Options:
1) 2­Chlorobutane
2) 3­Bromopropene
3) Chloroethene
4) Dichloromethane

Correct Answer: Chloroethene

QID : 1157 ­ Formula for styrene is _______.

Options:
1) CH2=CH­C4H7=CH2

2) C6H5CH=CH2

3) C5H4CH=CH2

4) CH2=CH­C3H5=CH2

Correct Answer: C6H5CH=CH2

QID : 1158 ­ The general electronic configuration ns2np3 fits which of the following elements?

Options:
1) Boron
2) Fluorine
3) Oxygen
4) Nitrogen

Correct Answer: Nitrogen

QID : 1159 ­ Which tag is used to insert a horizontal line on the web page?

Options:
1) <ho.li>
2) <h.l>
3) <­l>
4) <hr>

Correct Answer: <hr>

QID : 1160 ­ Which of the following is a browser?

Options:
1) Safari



2) Linux
3) Windows
4) MacOS

Correct Answer: Safari

QID : 1161 ­ Which of the following is the founder/co­founder of "Paytm"?

Options:

1) Sachin Bansal
2) Vijay Shekhar Sharma
3) Kunal Bahl
4) Bhavish Aggarwal

Correct Answer: Vijay Shekhar Sharma

QID : 1162 ­ ______ made announcement of Demonetization on 8th November, 2016.

Options:
1) Sonia Gandhi
2) Narendra Modi
3) Pranab Mukherjee
4) Rahul Gandhi

Correct Answer: Narendra Modi

QID : 1163 ­ Who is regarded as the father of microbiology? He is also known for the discovery of bacteria.

Options:
1) Jonas E. Salk
2) Dmitri Mendeleev
3) Antony van Leeuwenhoek
4) Joseph Priestley

Correct Answer: Antony van Leeuwenhoek

QID : 1164 ­ ______ is a locus of all points representing bundles among which the consumer is indifferent.

Options:

1) demand graph
2) utility function
3) budget curve
4) indifference curve

Correct Answer: indifference curve

QID : 1165 ­ Which of the following is true with respect to LRAC (Long run average cost) and LRMC (Long run marginal cost) ?

Options:
1) Both LRAC and LRMC curves are 'U' shaped.
2) Both LRAC and LRMC curves are 'N' shaped.
3) LRAC curve is 'U' shaped and LRMC curve is 'N' shaped.
4) LRAC curve is 'N' shaped and LRMC curve is 'U' shaped.

Correct Answer: Both LRAC and LRMC curves are 'U' shaped.

QID : 1166 ­ If demand curve for Kanjeevaram sarees is D = 73000 ­ 17P and supply curve is S = 28000 + 8P, find the equilibrium Price (in Rupees)?

Options:
1) 2000

2) 2200

3) 1800

4) 2400

Correct Answer: 1800

QID : 1167 ­ Any current account deficit is of necessity financed by a _____.

Options:
1) budget surplus
2) loan from RBI
3) net capital inflow
4) currency depreciation

Correct Answer: net capital inflow

QID : 1168 ­ Personal Income – Personal tax payments – Non­tax payments =

Options:
1) Net National Product at factor cost
2) National Income



3) Personal Disposable Income
4) Gross National Product

Correct Answer: Personal Disposable Income

QID : 1169 ­ The electrostatic precipitator has electrode wires that are maintained at several thousand volts, it produces which of the following to
release electrons?

Options:
1) a flame
2) an electric field
3) a corona
4) electromagnetic waves.

Correct Answer: a corona

QID : 1170 ­ Which type of water plants scientifically named as Eichhornia crassipes, have become the world’s most problematic aquatic weed?

Options:

1) moss
2) algae
3) hyacinth
4) fungus

Correct Answer: hyacinth

QID : 1171 ­ By percentage, which of the following gases is greater than the rest in the earth's atmosphere?

Options:

1) Carbon dioxide
2) Neon
3) Hydrogen
4) Nitrogen

Correct Answer: Nitrogen

QID : 1172 ­ Which of the following is not a green house gas?

Options:
1) Ammonia
2) Chlorofluorocarbons
3) Methane
4) Nitrous oxide

Correct Answer: Ammonia

QID : 1173 ­ In parts of South India, Lord Vishnu is also known as Lord _____ .

Options:
1) Bhairava
2) Rudra
3) Pashupati
4) Venkateshwara=

Correct Answer: Venkateshwara

QID : 1174 ­ With reference to the interior of the earth consider the following statements.

1] The earth’s radius is 6,370 km.
2] The deepest drill at Kola, in Arctic Ocean, has so far reached a depth of 12 km.
3] Rocks along a fault tend to move in the same direction.

Which of the statements given above is / are correct?

Options:

1) 1 and 2 only
2) 1 only
3) 2 and 3 only
4) 1, 2 and 3

Correct Answer: 1 and 2 only

QID : 1175 ­ According to The Continental Drift Theory, all the continents formed a single continental mass named ________.

Options:
1) Laurasia
2) Pangaea
3) Gondwanaland
4) Panthalassa

Correct Answer: Pangaea

QID : 1176 ­ Which of the planets has no satellites?



Options:
1) Uranus
2) Venus
3) Jupiter
4) Neptune

Correct Answer: Venus

QID : 1177 ­ Which element makes up 46.6% of the mass of the Earth's Crust?

Options:

1) Iron
2) Oxygen
3) Aluminium
4) Silicon

Correct Answer: Oxygen

QID : 1178 ­ The Kharif cropping season is from ______.

Options:
1) October­January
2) February­May
3) June­September
4) November­February

Correct Answer: June­September

QID : 1179 ­ With reference to the 1857 revolt consider the following statements.

1] In major towns like Lucknow, Kanpur and Bareilly, moneylenders and the rich also became the objects of rebel wrath.
2] The 7th Awadh Irregular Cavalry had refused to accept the new cartridges in early May.
3] Captain Hearsey of the Awadh Military Police was hanged by his Indian subordinates during the mutiny.

Which of the statements given above is / are correct?

Options:
1) 1 only
2) 1 and 2 only
3) 2 and 3 only
4) 1, 2 and 3

Correct Answer: 1 and 2 only

QID : 1180 ­ In the middle of the first century BC, under _______, a high­born military commander, the ‘Roman Empire’ was extended to present­day
Britain and Germany.

Options:
1) Alexander
2) Julius Caesar
3) Xerxes
4) Caligula

Correct Answer: Julius Caesar

QID : 1181 ­ Which of the following Kings does not belong to the Magadha empire?

Options:
1) Bimbisara
2) Ajatashatru
3) Rajadhiraja
4) Mahapadma Nanda

Correct Answer: Rajadhiraja=

QID : 1182 ­ Al­Biruni from Uzbekistan, travelled to India in which century?

Options:

1) 11th century
2) 14th century
3) 7th century
4) 17th century
Correct Answer: 11th century

QID : 1183 ­ All of the following are the principal deities of the Vedic pantheon, except _______.

Options:
1) Durga
2) Agni
3) Indra
4) Soma



Correct Answer: Durga

QID : 1184 ­ Who is universally credited with inventing the barometer in 1643?

Options:
1) Evangelista Torricelli
2) Christian Huygens
3) James Chadwick
4) Ernest O. Lawrence

Correct Answer: Evangelista Torricelli

QID : 1185 ­ Consider the following pairs.

Size of Object or distance : Length ( in m)
1] Size of hydrogen atom : 10­10
2] Height of mount Everest above sea level :10 8
3] Distance of moon from Earth : 1012
4] Distance to Andromeda galaxy : 1022

Which of the above pairs are correctly matched?

Options:

1) 1 and 3 only
2) 2, 3 and 4 only
3) 1 and 4 only
4) 1,2 , 3 and 4

Correct Answer: 1 and 4 only

QID : 1186 ­ What is the correct relationship between frequency (f) and time period (T) of a wave?

Options:
1) f / T = 1

2) f + T = 1

3) f ­ T = 1

4) f x T = 1

Correct Answer: f x T = 1

QID : 1187 ­ Which of the following electromagnetic waves can be detected using Geiger tubes?

Options:
1) Gamma rays
2) Ultraviolet rays
3) Microwaves
4) Radio waves

Correct Answer: Gamma rays

QID : 1188 ­ An object is placed at 10 cm in front of a concave mirror of radius of curvature 12 cm. How far is the image formed from the mirror?

Options:
1) 10 cm
2) 20 cm
3) 15 cm
4) 25 cm

Correct Answer: 15 cm

QID : 1189 ­ The Principles of Liberty, Equality and Fraternity of the Indian Constitution are borrowed from the _________ constitution.

Options:

1) French
2) Irish
3) Canadian
4) United States

Correct Answer: French

QID : 1190 ­ All of the following are the characteristics of a Proportional Representation system, except _________ .

Options:

1) Candidate who wins the elections gets majority of votes
2) Every constituency elects one representative
3) Voter votes for the party
4) Every party gets seats in the legislature in proportion to the percentage of votes that it gets

Correct Answer: Every constituency elects one representative



QID : 1191 ­ Which of the following is false with reference to Parliamentary type of executive?

Options:

1) President or Monarch may be the head of the state
2) Prime Minister is the head of the Government
3) The Prime Minister is the leader of the majority party in legislature.
4) The Prime Minister is not accountable to the legislature

Correct Answer: The Prime Minister is not accountable to the legislature

QID : 1192 ­ Judges can hold office till _____.

Options:

1) Till reaching the age of retirement
2) For 5 Years
3) Tenure is decided by President
4) Tenure is decided by Parliament

Correct Answer: Till reaching the age of retirement

QID : 1193 ­ Which European country was not one of the signatories of the Treaties of Rome establishing the European Economic Community in 1957?

Options:
1) Finland
2) France
3) Italy
4) Belgium

Correct Answer: Finland
QID : 1194 ­ Which of the following is an Indian professional player of English billiards and former professional snooker player?

Options:
1) Pankaj Advani
2) Narain Karthikeyan
3) Pullela Gopichand
4) Dhanraj Pillay

Correct Answer: Pankaj Advani

QID : 1195 ­ Who wrote the novel "Devdas"?

Options:
1) Rabindranath Tagore
2) Premchand
3) Mulk Raj Anand
4) Sarat Chandra Chattopadhyay

Correct Answer: Sarat Chandra Chattopadhyay

QID : 1196 ­ _____ is the largest phylum of Animalia which includes insects.

Options:
1) Porifera
2) Annelida
3) Mollusca
4) Arthropoda

Correct Answer: Arthropoda

QID : 1197 ­ On the basis of structural modification of the cells, simple epithelium is divided into all of the following types, except _____.

Options:
1) Cuboidal
2) Columnar
3) Squamous
4) Cylindrical

Correct Answer: Cylindrical

QID : 1198 ­ "Lake Palace" built by Maharana Jagat Singh II is in which city?

Options:
1) Udaipur
2) Jodhpur
3) Jaipur
4) Bikaner

Correct Answer: Udaipur

QID : 1199 ­ Which of the following was an eminent Indian painter, sometimes known as India's Frida Kahlo?

Options:
1) Sonal Mansingh



2) Shovana Narayan
3) Bhimsen Joshi
4) Amrita Sher Gil

Correct Answer: Amrita Sher Gil

QID : 1200 ­ Which of the following is a recipient of the "Gandhi Peace Prize"?

Options:
1) Indian Space Research Organisation
2) Defence Research and Development Organisation
3) Indian Railways
4) Indian Air Force

Correct Answer: Indian Space Research Organisation




